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BACHELOR OF SCIENCE (GENERAL)
UNDER CBCS (BSCG)

Term-End Examination

June, 2022

BZYCT-131 : ANIMAL DIVERSITY

Time : 2 hours Maximum Marks : 50

Note: Question no. 1 is compulsory. Attempt any

four questions from questions no. 2 to 6.

1. (a) Define the following terms : 5x1=5
(i) Coelom
(ii)) Amnion
(iii) Heterocercal Tail
(iv) Polyphyletic

(v) Diastema
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(b) Match Column A with Column B : 5x1

Column A

1. Tornaria
ii.  Aristotle’s lantern
iii.  Polyplacophora

iv.  Ampullae of
Lorenzini

v.  Filoplume

(a)
(b)
(c)
(d)

(e)

Column B

Chiton

Hemichordata
Birds
Shark

Echinoidea

2. Write short notes on any fwo of the following :

(a)  Trilobitomorpha

(b)  Parental care in amphibians

(¢) Integumentary glands of mammals

3. Explain the process of torsion in gastropods.

4. Differentiate between the following pairs of

terms :

(a)  Lacertilia and Ophidia

(b)  Biradial and Bilateral Symmetry

(c) Paleognathae and Neognathae

(d) Pinacocytes and Choanocytes
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5. (a)
(b)
6. (a)

(b)

Discuss the parasitic adaptations of

Ascaris.

Describe various locomotory organelles of

protozoans.

Discuss adaptations of bony fish that
have made them successful in aquatic

environment.

Explain the reasons for the success of the

insects in the terrestrial environment.
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1. (%) Frafafea wsg =t afenfya Hifse 5x1=5
(i) Rl (dem)
Gi) IR
(i) foemaTfl g=s
(iv) wEgEdigwdl (Sgges)
(v) STSUEHT
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2.

3.

4.

(@) hicm & 1 T Fiam @ T KT 5x1=5

HlcTH & HlcTH G
i, eHfEn (a) @B
i, 3T I AT (b) BfHERiSe
i, diciih®RT (c) u&ft

iv. ARfeH #r gl (d) SR

o e s
AU=S (TdMU=sh) (e) UhEASISAT

<

frefeifad & @ fordl g7 W dferea feoafort foafee . 10
(%) gTEAISTEEHTH

(@) 3IWI= T ANTTEh W&o

() Tt i reTaRelt ufert

9

el ° fadren it ufshan awesu | 10

Frfafaa weg gt 4 faug Hife - 10
&)  oadifoRn 3 enfefen
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5. (%) UHRT H Wele rgehert i faa=mr Hifsr |

(@) WIS Sial gRT = o faw 3w i e
areft fafYs stamTett @1 avi Hif |

6. (%) oIy wafodl & 3 AJheHl ohl o=
i fSeh T SIefiT waieor § 98 = &+
T 3 awat g1 T B |

(@) el & Tl gATawor § d%d g9 o HRON
1 TS HIfT |

BZYCT-131 6



